	Type
	Language Arts
	Math

	Expression
	Incomplete Sentence

No verb

Ex.  Students in class

        Pizza with pepperoni
	 3x +2

4 + 7

9x

No equals sign

	Equation
	 Complete Sentence or thought

Need a verb

Ex.  Students in class ate pizza with pepperoni.

One answer
	 3x+2=6

2y=8

z – 10 = 7

Needs an equals sign

	Inequality
	Complete sentence.

 Six is greater than four.

She ate no more than 2 slices.

The CD cost at least $8.
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Needs an Inequality sign


	Graphing Inequalities with one variable

	Symbol
	Read 
	Graphed

	 >
	Greater Than 

More Than

Exceeds
	Open Circle Arrow to the right

	 <
	Less Than

Fewer Than
	Open Circle Arrow to the left
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	Greater Than or Equal To

No Less Than

At Least
	Closed Circle Arrow to the right

	 
[image: image3.wmf]
	Less Than or Equal To

No More Than

At Most
	Closed Circle Arrow to the left

	 =
	Equal To
	Closed Circle

	 
[image: image4.wmf]
	Not Equal To
	Open circle arrows both ways.


Graph:

1.

x > 5



    2.     X < -3


3.

x  (  -2



     4.     Write an inequality for the graphs.




Write an inequality in words.

5.  x > -4






6.   x ( 9

7.  Determine if the given value is a solution to the inequality.

2m – 4 
[image: image5.wmf] 10       
  a.  -1


b.  8



c. 10

3.2  Solving Inequalities by Adding and Subtracting

**Solving an inequality means finding the values of the variable that make the inequality true.  The steps are similar to solving equations except there can be many values for the variable that will make the statement true.**
To solve an inequality, you use the SAME procedures you use for 

solving equations.  (INVERSE OPERATIONS)
Ex 1:  Solve:  n – 8 < 15

          Ex 2:  Solve:  -4 ≥ a + 7  



Ex 3: Solve:    t + 3 > 12


(Justify each step)



Ex 4:  Write an inequality and solve the problem:    The difference between a number and 11 is less than 8.  Then check!!


3.3  Solving Inequalities by Multiplication and Divison

To solve an inequality, you use the SAME procedures you use for 

solving equations.  (INVERSE OPERATIONS)
One exception: If you mulitply or divide by a negative number, you must switch the direction of your symbol.

Ex: 1    7y >  -42


Ex 2:  [image: image7.png]wi=
IA



  

Ex 3:   -24 > -6n

Ex 4:  [image: image9.png]


                       Ex 5:  -5d ≥ 30

Ex 6: 
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